.030" x 0.393" SLOTS

~ @ 0.79" o.C. 138"

o
r[['ﬂ '190l_—_ Q_E 126” .122”
472" ' 039"

N " J " g7 083"
030" ——Re.0617 L, U~ 4.150" —-—Wz.gw E— T T S NI
. : — 197 4 .310"550”"

R2.65% 2.314" T )/ &2 169 ;
8.129”" & 1.492" i 1.000"geg" il | 264" 656" .959"-—|-‘930"__
$.157"~ -?33 | .075 J_
(TYP.) 75 @ RETAIN SCREW
e 160" {62 —1.119" 814" 1.007"— L.172" (1 EVERY OTHER SLAT INCLUDING BASE SLAT
’ 308" AND SHALL BE INSTALLED W/A 0.576” MIN. SLIP AS SHOWN ON SECT!ONS)
AISI/SAE 304 SERIES STAINLESS STEEL
@ SLAT BASE SLAT SIDE RAIL SOAE: 3/4° = 1”
o 6063-T5 ALUMINUM ALLOY
ggifs :*rg/%tim:dym ALLOY gggfarg/ﬁg_im?yu ALLOY SCALE: 3/4" = 1"
R .250,,_ —3.000 250" 3.000"
(TYP.) (v |
|
.250" I 3.000” I i 3.000" {
(TYP.)
8.000"
.250"
(TYP.) 6.000" 1,AN n
(E) 3x3'x1/4" INSIDE @ 3"x3"x1/4" ALTERNATE
MOUNT ANGLE INSIDE MOUNT TUBE
6061~T6 ALUMINUM ALLOY 6061-T6 ALUMINUM ALLOY
SCALE: 3/8" = 1" SCALE: 3/8" = 1"
|——4.000"——| [——‘4.000“%
(D) 4'x6" MULLION: 4"x8"x1/4" ALTERNATE
6063—T6 ALUMINUM ALLOY M
SCALE: 3/3" = 1" 6063-T6 ALUMINUM ALLQY
SCALE: 3/8" = 1"
|~ A
COMPONENTS @ ShadeAndShutter.com

Weather Protection and Sun Control Solutions

800.522.1599



\\“\
i
NE
3§
8
X iy
i 2
\“\
\/ @ SIDE CAPS: 45" CHAMFER

AS APPLICABLE

RV 45 & RV 45/S
HOUSINGS

COMPONENTS FOR GEAR OPERATED SYSTEM

UNIVERSAL & CRANK

CRANK HOLDER(OPTIONAL)

GEAR INSERT(GEAR TO AXLE CONNECTOR)
IDLER INSERT

BALL BEARING

45" CHAMFER
AS APPLICABLE

OCTAGONAL AXLE * * SHALL BE CAPABLE TO SUSTAIN SLAT'S
ENTRY GUIDES WEIGHT AND ASSURE LIFTING MECHANISM
SIDE/END CAP * (SEE NOTE 10/1)

HOUSING(FRONT & BQOTTOM), 0.040" THICK

SIDE RAIL
PLUG—-BUTTOMS
ALUMINUM SLATS

BASE SLAT

PLASTIC STOPS(OPTIONAL)

SIDE LOCKS(OPTIONAL)

=l (? — STAPLES(OPTIONAL)
(8 — SPRINGLOCK HANGER
(9 — SAFETY PLATES

(SEE DETAILS) ADDITIONAL COMPONENTS FOR

MOTORIZED OPERATED SYSTEM

= TUBULAR MOTOR
— MOTOR BRACKET

— SWITCH

FASTENERS

@ — 3/16" ALUMINUM POP RIVETS(6 REQ'D EA.
SIDE CAP) : 2 @ TOP, 2 @ REAR, 2@ BOTTOM

(M) BOX COMPONENTS AND ASSEMBLY DETAIL )9 shadeAndsShutter.com
END C AP SYSTEM Weather Protegts)glasnzdzf:g gsntrol Solutions
(SEE NOTE 10 ON SHEET 1)




| 5 1/2" Min,

\\ SOONRAN SN

E.D. REQ'D

3/8" HILTI, KWIK BOLT 3
EXPANSION ANCHOR W/
3 1/2" MIN. EMBEDMENT,

POURED CONCRETE
WALL REQ'D. 3k

////////,

OPEN HOLE AND
COVER W/ NYLON CAP

&

—] 576" |—
sueP

SECTION P-P (1): WALL MOUNT

3/8"@ HILTI, KWIK BOLT 3 EXPANSION ANCHOR

SIDE RAIL CONNECTIONS

TO POURED CONCRETE
SCALE : 3/8" = 1"

5/16"¢ [TW TAPCONS XL
W/ 2" Min. EMBEOMENT

W

POURED CONCRETE §

WALL REQ'D. 3k *\
AORARNARINSANRYN

OPEN HOLE AND
COVER W/ NYLON CAP SLIP

[Si =

—1.576" |

SECTION P-P (1): WALL MOUNT

5/16"@ TAPCONS XL

(OPTIONAL)

#12x3/4"

TW TEK
SCREWS
@ 4" 0.C.

—|.576" |—
SuP

OPEN HOLE AND
COVER W/ NYLON CAP

E.D. REQ'D

POURED CONCRETE
WALL REQ'D. sk

SSANNNNNNW

o~

~

T

SECTION P-P (2): INSIDE MOUNT

3/8"@ HILTI, KWIK BOLT 3 EXPANSION ANCHOR

(OPTIONAL)

#12x3/4"

ITW TEK
SCREWS

@ 4" 0.C.

———H

2.156"
5/16"% ITW TAPCONS XL
W/ 2" Min. EMBEDMENT

G U

844"

3 3/8" Min.
E.D. REQD

POURED CONCRETE
WALL REQ'D. 3k

LA

576" |—
SLIP

N

OPEN HOLE AND
COVER W/ NYLON CAP

SECTION P-P (2): INSIDE MOUNT

Xk

NOTE:

IT SHALL BE THE RESPONSIBILITY OF THE
CONTRACTOR TO VERIFY THAT EXISTING
STRUCTURE IS DESIGNED TO SUPPORT Vx AND
Vy=FORCES IN (Ib/ft) OF SHUTTER HEIGHT AT
BOTH JAMBS. (SEE SCHEDULES THIS SHEET).

Vy

Vx

B

Vy

5/16"@ TAPCONS XL

o
2158 3/8" HILTI, KWIK BOLT 3
Sy % EXPANSION ANCHOR W/
/ 3 1/2" MIN. EMBEDMENT.
s st
+1
EQ. | EQ.

SLAT SPAN DEFINITION

MAXIMUM SLAT SPAN "L" (FT) & CORRESPONDING Vx & Vy REACTIONS AT JAMB &

5 1/2" Min.

ANCHOR SPACING FOR 3/8"@ HILTI, KWIK BOLT 3 EXPANSION ANCHOR GIVEN

MAXIMUM DESIGN LOAD & REQUIRED SLIP

MAXIMUM MAXIMUM REQUIRED MAX.
DESIGN LOAD SLAT SPAN SLIP L:.-‘)I(:t u\;;i cgrluDNEng\r"E)N ANCHOR
(p.s.f) "L (FT.) (in) (Lb/Ft) (Lb/Ft) I sp;(\i%me
+80, —~80 | 15'-0 1/8" 0.576" 2272 600 e wouir| 7

MAXIMUM SLAT SPAN "L" (FT) & CORRESPONDING Vx & Vy REACTIONS AT JAMB &

ANCHOR SPACING FOR 5/16"@ ITW TAPCONS XL ANCHOR GIVEN MAXIMUM

DESIGN LOAD & REQUIRED SLIP

MAXIMUM MAXIMUM REQUIRED MAX.
DESIGN LOAD SLAT SPAN SLIP Vx vy SIDERAIL | ANCHOR
(P.S.F) " (ET) (in) (Lb/Ft) (LbIFY) CONNECTION | SPACING
(in)
+55, —-55 15’'-0 1/8" 0.576" 1605 413 WALL MOUNT 5"
+45, —45 15'-0 1/8" 0.576" 1330 338 INSIDE MOUNT 5"

@TShadeAndShutter.com

Weather Protection and Sun Control Solutions

800.522.1599



@0orQ)

#12x3/4"
[{TEV/BUTLDEX
K- SCREWS y n
@ 4" 0.C. #125(3/4
ITW/BUILDEX
TEK SCREWS
@ 4" 0.Cc

1

£0_|EQ. d—

#12x3/4"
ITW/BUILDEX
TEK SCREWS
@ 4" 0.C.

= oy

—].576"

OPEN HOLE AND SUP

COVER W/ NYLON CAP

IEO. ! EQ, l E(lJ EQ‘l

=

SECTION Q-Q (1): (END MULLION) PR . . . -3

SLIP

FACE MOUNT (MULLION ORIEN 1 COVER W/ NYLON CaP
( e SECTION Q-Q (1): (END MULLION)

FACE MOUNT (MULLION ORIENTATION # 2)

S jopzn HOLE ANDi

COVER W/ NYLON CAP

576"
SLP

SECTION R-R (1): (INTERIOR MULLION)

FACE MOUNT (MULLION ORIENTATION # 2)

-—

(OPTIONAL) e e s — — —I (OPTIONAL)
| 3/8"% THRU BOLT 2.156" |

,, @ 4" o.c. i
#12x3/4 | | #12x3/4
ITW/BUILDEX—— & [—+—ITW/BUILDEX
TEK SCREWS TEK SCREWS
@ 4" 0.C. | ®_| e I—@ | @ 4” 0.C.

I

1375~ ZopeN HOLE AND OPEN HOLE ANDS —i-37¢"
COVER W/ NYLON CAP COVER W/ NYLON CAP

SECTION Q-Q (3): (END OR INTERIOR MULLION)
INSIDE MOUNT(MULLION ORIENTATION # 1 OR 2 AS APPLICABLE)

SIDE RAIL CONNECTIONS TO MULLIONS

(SEE SLAT SPAN SCHEDULE)
SCALE: 3/8" = 1"

1"x2"x1/8" Alum. PLATE W/ 1/4"¢x1 3/4”
TAPCONS @ 12" o.c. FOR CONCRETE OR
16" o.c. (TO EA. STUD) FOR WOOD]

1"

"
i

b

%/

[¥]

Min. E.D.

DM

/POURED CONCRETE :
OR WOOD HEADER

REQ'D —y
I
I
5
I
P—P(1) Il P—P(1) UNLIMITED
P—P(2) SIM. | P—P(2) SIM.  HEGHT

I

I
1
]

|
=i B[ (Key
AN

POURED CONCRETE REQ'D
WALL MOUNTING: NO MULLION CASE
SECTION V-V

@vs:hadeAndShutter. com

Weather Protection and Sun Control Solutions

800.522.1599



FOR 5/8"¢ KWIK BOLT TZ

1/4" Min. E.D. —4 1/4" Min. E.D.
Wb T | EXPANSION ANCHORS
EDGE OF SLAB| (f'c = 3000 psi Min.) |EDGE_OF SLAB
IF "APPLICABLE @ 6" Min. THICK REQ'D % 17" IF APPLICABLE
L) ol zéi
T L)

EXISTING —f’"
GLASS

N\

¥ |

=

!
—
—

/5 OR R/5
EXTERIOR
¥

X1
(TYP. TOP/BOTTON)

! I
fl _@ﬁ @ 1}1/4" 31

A7 7777

MAXIMUM MULLION SPAN FOR THIS INSTALLATION TYPE
(SEE SCHEDULE)

&
W N— ___—_X;f;____

IR W Y 1

EDGE OF SLAB| POURED CONCRETE EDGE OF SLAB
(fc = 3000 psi Mm)

i APPUCABLEI Min. THICK REQ'D  F=EQ.—1=—EQ.~ |IF ﬁi‘?)%?lcga/LBE"ca KWIK BOLT TZ
1/4" Min. E.D. 4 1/4” Min. E.D. EXPANSION ANCHORS

FLOOR TO CEILING / TRAPPED MOUNTING : MULLION (D)OR (D7)
SECTION W-1 -

END & INTERIOR MULLION MAX. SPAN (ft) SCHEDULE

FOR A MAXIMUM DESIGN LOAD (p.s.f.), & A GIVEN MULLION SPACING (ft) *

“ t’l
i3
I ; > e .._____x2"x‘l/8" Alum. PLATE W/

/ X || 1/4"@ TAPCON ANCHORS @ 12" O.C.

INSTALLATION INTO POURED CONCRETE

MAXIMUM MULLION SPAN (FT): FLOOR OR TO CEILING

2 1 1/2"—= T -1 1/2"

! |
r‘l—\_@;—ﬂ @\ | T@T 1R
@\ EXTERIOR
iy 3"x3"x1/2"x0'—6" 4» EXTERIOR
6 (6061-T6 ALLOY)
3"x3"x1/2"%0'—4" Alum. ANGLE EA. SIDE W/
(6061-T6 ALLOY) (2) 1/2"¢ THRU BOLTS X
Alum. ANGLE EA. SIDE W/ TO MULLION (D) & B S w— ! 1‘/2
2) 1/2" Tagu BOLTS ’ (1) 5/8"® KWIK BOLT TZ \ &
T0 MULLION @) &—~~__[ — :!{2 E{){/PA"I:?'SIS_!*I AEJSSSDRMENT 11/2
» ,@_i in. !
&)pf;\{s?oi; T&'&‘HSS” 5 1/ TO POURED CONCRETE e 3"t 3" ]
W/ 4" Min. EMBEDMENT : (Typ. TOP & BOTTOM) 5
TO POURED CONCRETE .
(Typ. TOP & BOTTOM) 4
SECTION X1-X1 W/(D) * ALTERNATIVE SECTION X1-X1 W/(D)*
(W/ ORIENTATION # 1) (W/ ORIENTATION # 2)
2
=] f -
.—L@;—L 3 § 1/8" 11/2

; o EXTERIOR

3”}(3")(1/2")(0'--—8"
(6061-T6 ALLOY)
Alum. ANGLE EA. SIDE W/

3"x3"x1/2"x0"'-4"
(6061-T6 ALLOY)

Alum. ANGLE EA. SIDE W/ (2) 1/2" THRU BOLTS [~ =T 12
(2) 1/2"9 THRU BOLTS 10 MULLION 09 & @) ;
TO MULLION " (1) 5/8"9 KWIK BOLT TZ ¥ 11/2"
o SR 12 EXPANSION ANCHOR
(1) 5/8"8 KWIK BOLT TZ A | I i
11/2 TO POURED CONCRETE e
W/ 4" Min. EMBEOMENT X R it Rl
TO POURED CONCRETE BT (Typ. )

(Typ. TOP & BOTTOM)

SECTION X1-X1 W/ (O0)*  ALTERNATIVE SECTION X1-X1 W/_©1) *
(W/_ORIENTATION # 1) (W/_ORIENTATION # 2)

* SIDE RAIL (B) NOT SHOWN FOR CLARITY.
IT GOES ON EXTERIOR SIDE OF MULLION.

MAXIMUM MAXIMUM
DESIGN MULLION | @ 47x6"x1/4" MULLION 4"x8"x1/4” MULLION
LOAD SPACING r
(p.s1.) (Fr) | ORENTATION #1 &) | oRentamion #2 ([1) | orenranion #1 &) | orientamon 2 ([])

END [INTERIOR| END [INTERIOR] END {INTERIOR| END [INTERIOR

+55, ~55 OR LESS|15'-0 1/8"| 7'-2" | 8'-9" | 6’~8" {10'—=10"] 8'-8" | 9’6" | 7'-7" | 12'-

0»

+80, —80 15'-0 1/8"| 6'=0" | 7’8" | 5'-7" | 9'=7" | 7’-3" | 8’5" | 6'=5" [ 11

!_g"

* MAXIMUM MULLION SPACING SHALL BE SUCH THAT SLAT SPAN SHALL NOT BE EXCEEDED.

SEE SHEET 5 FOR MULLION ORIENTATION DEFINITION.

END & INTERIOR TRAPPED MOUNTED MULLION INSTALLATION

SCALE: 3/16" =

h'ShadeAndShutter.com

Weather Protection and Sun Control Solutions

800.522.1599



2"xMULLION DEPTHx1/8" " A "
CO)I("lt. ALUM. TUBEK / 1'x2 X1/8 Alum. PLATE

POURED CONCRETE K(TOP & BOTTOM) W/ [w/ 1/4"8x3/4" TEK SCREWS

(Fe = 3000 psi MiNﬁ

6" Min. THICK REQ'D 1/4”8 TAPCONS @ 12" o.c. @ 12" o.c. I ) - X‘? 4"
| N | J ke
¥ T ] 4 1/4" Min. ED. 2|:\\*‘_2..
1 f ¥ ]
/ v i S S
1 1/4" .
< 2
SiH-©- | l/ - \\ | o~
POURED CONCRETE
3 12 \ 6" : \ o / (f'c = 3000 psi MN
e ity |
NESE I L 7 \
_ — N l 1
4 1/4" ol EQ.~EQ.— i e \
Min. E.D. NpH—+
ALANEARAAAEN {ﬂﬂ“ ) i3 S i
i | END CAP | = ] 4
i N
i N

EXTERIOR

Y i ¥

|
|
|
|
1
|
|
I
|
|
T
|

MAXIMUM MULLION SPAN FOR THIS INSTALLATION TYPE
(SEE SCHEDULE)

Q/50RR/5 | Q/5 OR R/S
| e
1 12 / / / /// // 1' = 2"x2"x0.062"xCONT. ALUM.
MIN. E.D _'_ ANGLE W/ 1/4"#x3/4" TEK
4 1/4" 1 SCREWS @ 12" 0.C. TO TUBE.
MIN. E.D. : . -
4IPS |1 174
] & |
i 6"
3 1/2 7 g3 172"
L= ———E . | b=
| _&A |
" &
X2 BRI — 1 1/4" X2
(TYP. TOP/BOTTOM) T 7 i (TYP. TOP/BOTTOM)
__EQ__EQ__\4"x4"x3/8"xo'—s"(som—Ts ALLOY) Alum. ANGLE

EA. SIDE W/ (2) 1/2"¢ THRU BOLTS TO MULLION

& (2) 5/8"¢ KWIK BOLT TZ EXPANSION ANCHORS
W/ 4" Min. EMBEDMENT TO POURED CONCRETE WALL
(TYP. TOP & BOTTOM)

POURED CONCRETE
(fc = 3000 psi Min.)
6" Min. THICK REQ'D

WALL MOUNTING : MULLION (®)OR ©1)
POURED CONCRETE WALL

SECTION W-2

END & INTERIOR WALL MOUNTED MULLION INSTALLATION

SCALE: 3/16"= 1"

EDGE IF APPLICABLE

EXTERIOR

~\@or @)

EDGE IF APPLECABLE/

4"x4"x3/8" (6061-T6 ALLOY)

lum. ANGLE EA. SIDE.

4 1/4" Min. ED.

i

EDGE IF APPLICABLE

N
3

4" EXTERIOR

N .
POURED CONCRETE §
(f'c = 3000 psi Min.) \
’ E\C ——
o
. S L exe
2;

EOGE IF APPLIGABLE—"

4"x4"x3/8"
(6061-T6 ALLOY)
Alum. ANGLE EA. SIDE.

ALTERNATIVE SECTION X2-X2 W/ (D)OR @ ¥

SECTION X2-X2 W/ (D) OR (D1) *

(W/ ORIENTATION # 1)

(W/ ORIENTATION # 2)

* SIDE RAIL (B) NOT SHOWN FOR CLARITY.
IT GOES ON EXTERIOR SIDE OF MULLION.

END & INTERIOR MULLION MAX. SPAN (ft) SCHEDULE

FOR A MAXIMUM DESIGN LOAD (p.s.f.), & A GIVEN MULLION SPACING (ft) *

INSTALLATION INTO POURED CONCRETE

MAXIMUM MULLION SPAN (FT): WALL MOUNTING

'DESIGN' | MULLIN | @ 47x67x1/4” MULLION 4"x8"x1/4” MULLION
(:?: E ) SP?FCrI)NG orientanioN #1 ) | orietanon #2 ([1) | orentanon #1 € | orentamon 42 ([1)
END |INTERIOR| END |INTERIOR| END [INTERIOR| END [INTERIOR
+55, -55 OR LESS|15'-0 1/8"| 7'—2" | 8’9" | 6’8" |[10'-10"| 8'-8" | 9'—6" | 7'=7" [12'=-0"
+80, -80 |15-01/8"| 6’0" | 77-8" | 5'=7"| 9'=7"| 73" | 8’5" | 6’5" | 11"~¢”

*  MAXIMUM MULLION SPACING SHALL BE SUCH THAT SLAT SPAN SHALL NOT BE EXCEEDED.
SEE SHEET 5 FOR MULLION ORIENTATION DEFINITION.

@ShadeAndShutter.com

Weather Protection

800.

and Sun Control Solutions

522.1599



